PM SHRI KENDRIYA VIDYALAYA PASIGHTA
SUMMER VACATION HOLIDAYS HOME WORK 2024-25
CLASS X
SCIENCE

Activity-1 : Acid and Base

Collect at least 20 sample of different substance are used in day to day life and check whether they are acidic
and basic by using turmeric powder and red onion as a natural indicator.

To make the onion indicator cut one onion in to pieces and soaked in water for 24 hours boil and extract the
onion juice.

Example- Lemon juice ,soap solution, toilet cleaner, curd, tomato juice, eno, shaving cream sol. ,baking
soda

Note your observation in the following table-

Samples Colour with turmeric Colour with onion Nature Acidic/ Basic
extract

Activity 2- Complete and Balance the following equations
1.CHs+ O —» CO2+H20

2.AlI(SO4);+BaCl, —> a+b

3.KMnO; +H2S04+ FeSO4——»>MnSO4+Fe(SO4)3+H20
4.CoHs+ O ——» CO2+H0

5.Sodium Sulphate +Calcium Chloride a+b

Activity 3:- Write the in-text and exercise question answer of chapter Life Processes in your homework
notebook.

Activity 4 — Click on the link given below and do the competency based question of chapter 1 — Chemical
reactions and equations and chapter 2 — Life Processes.

https://drive.google.com/file/d/1sOuU1MLLVxf3KKhEYglIFRKZtgGnpn7Mh/view

Activity 5 - Explore the ideas to participate in inspire award, NCSC and Science Exhibition.
Write your ideas in an A4 sheet paper.

Link for inspire award
https://drive.google.com/file/d/1z9N JFA60x6cRmMMWhig89P-kxBix5x9B/view

link for NCSC (National level participation)
https://docs.google.com/presentation/d/IKY NONhSPMcHAGBmM L8ymOmos-RYVA-VM/edit#slide=id.p6

Activity 6 - Prepare a brief report for school Magazine on "What are the changes in society from last 50
years™ by discussing with your grandparents or any elder on any one of the following topics :-

1.Mode of transportation

2.Mode of communications

3.Moral values

4.Behaviour of children & elders

5.Sports and games

6.Relation with relatives

8. Practical knowledge and Discipline

Activity 7 — Prepare Portfolio in the format provided for internal Assessment.


https://drive.google.com/file/d/1sOuU1MLLVxf3KKhEYqlFRKZtgGnpn7Mh/view
https://drive.google.com/file/d/1z9N_JfA60x6cRmMWhig89P-kxBix5x9B/view
https://docs.google.com/presentation/d/1kYNQNhSPMcHA6Bm_L8ymOmos-RYvA-VM/edit#slide=id.p6




PM SHRI KENDRIYA VIDYALAYA, Pasighat
HOLIDAY HOMEWORK FOR SUMMER VACATION

SUBJECT - LIBRARY

“Reading is the gateway skill that makes all other learning

6.

possible”
— by Barack Obama.

CLASSES: VI- XII

Read the newspaper/e-newspaper daily and collect 10 new
words on each Monday, search their meaning and learn
them.

Make a habit to read daily at your convenient time and keep
the record of your reading in the library notebook.

You can use the mobile app e-Pustakalaya, launched by
Ministry of Education to read books. This app is very useful
and serves as a national repository of knowledge and
stories, specifically curated for children.

Link -
Android:https://play.google.com/store/apps/details?id=national.digital.library
Write about your favorite book/books in the library
notebook.

Collect and write 10 motivational thoughts given by famous
personalities.

Write a book review on A4 size paper.

Stay happy & Be Informed always!
Happy HoIs!
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PM SHRI KENDRIYA VIDYALAYA PASIGHAT
HOLIDAY HOME WORKS SESSION 2024-25

Social Science

Class 10

1. Solve MONTHLY TEST paper in your homework notebook.
2. Prepare portfolio of Social Science.
3. Complete all the chapters ( notes and question- answer) taught before summer vacation (only for
the students who have not completed their assigned work)
4. Map Work: Distribution of Soils ( On outline Political map of India)
5. Answer following questions:
A. Describe the role of culture in shaping the feelings of nationalism in Europe from 1830 to the
end of 19" Century.
B. Analyse the measures and practices introduced by the French revolutionaries to create a sense
of collective identity amongst the French people.
C. Why was the decade of 1830s known as great economic hardship in Europe? Explain the
reasons.
D. “In India, some regions are rich in certain types of resources but deficient in some other
resources”. Do you agree with the statement? Support your answer with examples.
E. Explain the contribution of Communities in conservation of forest and wildlife resources.

Holiday Homework (SST) Class 8

1. Complete Learner’s Diary for topics completed so far.
2. Learn question and answer of all topics completed before summer vacation
3. Complete all the chapters (notes and question- answers) taught before summer vacation (Only for
students who have not completed their assigned work.)
4. Answer following questions:
A. Write main features of: Permanent Settlement, Mahalwari Settlement, Ryotwari Settlement,
Doctrine of Lapse, Subsidiary Alliance.
B. Explain different types of resources with examples.
C. Explain fundamental rights in detail.
5. Map Skill:
Locate following on the Outline Political map of India: Delhi, Kolkata, Jhansi, Champaran, Madras,
Mysore, Pune, Ahmedabad, Varanasi.




Holiday Homework (SST) Class 7

1. Complete Learner’s Diary for topics completed so far.

2. Learn question and answer of all topics completed so far

3. Complete all the pending work (notes and questions answers) of chapters taught before summer
vacation.( Only for those students who haven’t completed their work)
Answer following questions:

What are the uses of rocks?

Explain rock cycle with diagram.

Describe different layers of the earth with 3D diagram.

Mention the provision in Indian constitution that ensures equality.
Differentiate between public and private health care facilities.
Explain major components of environment

mmooOw>kH




CHAPTER 1

Real Numbers

OBJECTIVE QUESTIONS

The sum of exponents of prime factors in the prime-
factorisation of 196 is

(a) 3
OR:

(b) 4

(d) 2
|Board 2022 Term 1 Basic]

The values of £ and y in the given figure are
{a) 7,13 (b) 13, 7

(c) 9,12 (d) 12, 9
[Board 2022 Tarm 1 Stanrd]

The total number of factors of prime number is
(a) 1 (b) 0

(e) 2 (d) 3
[Roard 2020 Dalhi Standard]

The HCF and the LCM of 12, 21, 15 respectively are
(a) 3, 140 (b) 12, 420

(c) 3,420 (d) 420, 3
[Boaud 2020 Dalhi Standard]

The LOM of smallest two digit composite number and
smallest composite number is

(a) 12 (b) 4
(c) 20 (d) 44
[Board 2020 SOP Standard]

HCF of two numbers is 27 and their LCM is 162. If
one of the numbers 1s 54, then the other number is

{(a) 36 (b) 35
(c) 9 (d) 81
[Buard 2020 OD Basic]
HCF of 144 and 198 is
(a) 9 (b) 18

10.

{c) 6 (d) 12

[Board 2020 Dalhi Basic]
225 can be expressed as
fa) 5x3° (b) 5*x 3
(c) 5 x 3 (d) 5*x 3

[Boand 2020 Dalhi Basic]
2v/3 is

{(a) an integer (b) a rational nnmber

(c) an irrational number  (d) a whole number

[Buoard 2020 OD Basic]

The product of a non-zero rational and an irrational
number is
(a) always irrational (b} always rational

(c) rational or irrational  (d) one

If two positive integers a and b are written as a= 'y
and b= 13", where z, y are prime numbers, then

HCF (a,b) is
(a) zy (b) =5
(c) 'y () 9"

[Board Term-1 2014, 2011]

If two positive integers p and g can be expressed as
p= ab’ and g= o’b; where a, b being prime numbers,
then LCM (p, q) is equal to
(a) ab

fe) o'#

(b) a"b"

(d) a°b
[Board 2010]

The least number that is divisible by all the numbaers
from 1 to 10 (both inclusive)

(a) 10
(c) 504

(b) 100

{d) 2520
(Board Term-1 2016, 2015]
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Page 2

n

If gy and p; are two odd prime mumbers such that
pu> o, then pi — pi is

(a) an even number (b} an odd number

(c) an odd prime number (d) a prime number

The number 3" — 3" is divisible by
(a) 2 and 3 (b} 3 and 10

(c) 2,3 and 10 {d) 2,3 and 13

1. The L.C.M. of r and 18 is 36.
2. The H.C.F. of x and 18 is 2.
What is the number z7

(a) 1 (b) 2
(c) 3 (d) 4

[Board Tarm-1 2013]
If a=2"%3, p=2%x3%x5 c=3"%5 and
LCM(a,b,c) =2"x 3" x 5, then n is
(a) 1 {b) 2
(c) 3 (d) 4

The least nmumber which is a perfect square and is
divisible by each of 16, 20 and 24 is

(a) 240 (b) 1600
(e) 2400 (d) 3600

ONE MARK QUESTIONS

What is the sum of exponents of prime factors in the

prime-factorisation of 196 7
{Board 2020 OD Standar)

Find the HCF and the LCM of 12, 21 and 15.
[Board 2020 Delhi Standerd)

Explain why 13233343563715 is a composite mumber?
[Board Tamm-1 2016]

Find the LCM of smallest two digit compasite mumber

and smallest composite number.
(Board 2020 SOP Standard)

Tieal Numbers

n

3

Chap 1

Express 225 in prime factorization.
[Board 2020 Delhi Basic]

HCF of two numbers is 27 and their LCM is 162.
If one of the nmumbers is 54, then what is the ether

number 7
[Board 2020 OO Basic]

Find the HCF and LCM of 90 and 144 by the method

of prime factorization.
[Board Tamm-1 2012]

If two positive integers a and b are written as a = I1f
and b= zy’, where , y are prime numbers, then find
HCF (a,b).

[Bioard Term -1 2014]

What are the values of z and y in the given higure 7

[Boand Term -1 2012

If HOF(336, 54) = 6, find LCM(336, 54).
[Beard 2018 0]

a and b are two positive integers such that the least
prime factor of a is 3 and the least prime factor of b

is 5. Then caleulate the least prime factor of (a+ b).
[Board Tam-1 2014]

What is the HCF of the smallest composite number

and the smallest prime number?
[Board Tarm-1 OD 2018]

Calculate the HCF of 3*x5 and 3*x5%.
[Board 2007]

If HCF (a,b) =12 and a x 5= 1,800, then find LCM

(a,b).
[Board 2010]

Find the smallest natural number by which 1200
should be multiplied so that the square root of the

product is a rational number.
[Board Term-1 2016, 2015)
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Chap 1

M. Can two numbers have 15 as their HCF and 175 as

their LCM7? Give reasons.
[Board Term-1 2012

Find the least number that is divisible by all numbers

between 1 and 10 (both inclusive).
[Board 2010]

Find HCF of the numbers given below:
[Board Tem-1 2015]

Complete the [ollowing factor tree and find the

composite oumber x.
[Board Term-1 2015]

TWO MARKS QUESTIONS

Explain why (7Tx13x11)+11 and
(TXOEXHXAXIXK2ZX1)+3 are composite
numbers.

[Boam Term-1 2012]

Explain whether 3 »x 12 % 101 + 4 is a prime number

or a composite number.
[Board Term-1 2017

Given that HCF (306, 1314) = 18. Find LCM

(306, 1314)
[Board Tarm-1 2013]

Complete the following factor tree and find the
composite number .

2 3381
7 161

|Board Term-1 2015, 2014]

Reel Numbers

ar

-1

Page 3

Check whether 4" can end with the digit 0 for any

natural number n.
[Boand Tann-1 2015]

Show that 56 is an irrational number.
[Board Tam-1 2015]

Write a rational number between v'2 and 3.
[Board Tamm-1 2013

Show that 571 is a prime number.

I two positive integers p and g are written as p= 2"
and g=a'b, where a and § are prime numbers than

verify LCM (p,q) x HCF(q,q) = pg
[Sample Paper 2017)

Prove that 3 4 /b is an irrational number.
(Board 2010]

Show that any positive even integer can be written in

the form 6g,6g+ 2 or 6g-+ 4, where g is an integer.
[Board Tarmd, 2016]

THREE MARKS QUESTIONS

Given that V5 is irrational, prove that 2 V5 —3isan

irrational number.
[Board 2020 SQP Standard)

Given that v'2 is irrational, prove that {5+ 3/2) is

an irrational number.
(Board 2016)

Write the smallest nnmber which is divisible by both

306 and G5T.
[Board 2019 O0]

144 cartons of Coke cans and 90 cartons of Pepsi cans
arc to be stacked in a canteen. Il each stack is of
the same height and if it equal contain cartons of the
same drink, what would be the greatest number of

cartons cach stack would have?
[Board Tarm-1 2011

Scanned with CamScanner



Page 4

. Three bells toll at intervals of 9, 12, 15 minutes
respectively. I they start tolling together, after what

time will they next toll together?
[Eoard Tarm+1 2011

58 Find HCF and LCM of 16 and 36 by prime factorization

and check your answer.
[Board 2009

5. The length, breadth and height of a room are § m
50 cm, 6 m 25 em and 4 m 75 em respectively, Find
the length of the longest rod that can measure the

dimensions of the room exactly.
[Boerd Term-1 2016]

FIVE MARKS QUESTIONS

8. If p is prime number, then prove that ',/; is an

irrational.
[Board Term-1 2013)

. Prove that v’ﬁ is an irrational number.
{Boand 2020 O Basic]

8. Prove that JE is an irrational number and hence

show that 2 — '5 is also an irrational number.
[Eoard Tarm-1 2011]

8. Find HCF and LCM of 378, 180 and 420 by prime
factorization method, Is HCF » LCM of these nnmbers

equal to the product of the given three numbers?
[Board 2009

. State Fundamental theorem of Arithmetie. Find LCA

of numbers 2520 and 10530 by prime factorization.
[Board Term-1 2016]

OR

L. Can the number G", n being a natural number, end

with the digit 5 7 Give reasons,
[Board Term-1 2015)

6. State Fundamental thecrem of Arithmetic. Is it
possible that HCF and LCM of two numbors be 24

anc 5140 respectively. Justify your answer.
[Board Tarm-{ 2015]
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CHAPTER 2

Polynomials

OBJECTIVE QUESTIONS

If the sum of the zeroes of the quadratic polynomial
ki’ + 2r+ 3k is equal to their product, then & equals

1 1
(n) 3 () -3

(c)

[~

2
@ -3
[Board 2020 OO Basic]

If o and B are the zeroes of the polynomial 2 + 22+ 1
, then ?.-+IJ,- is equal to

(n) =2 (b) 2

(e) 0

|Board 2020 Deti Basi]

IIf o« and P are the zeroes of the polynomial
20 — 132+ 6, then oo+ is equal to

(n) —3 (b) 3
(c) A& (1) - 12

2 - [Baard 2020 Dahi Basic)

If one zero of a quadratic polynomial (ke + 3+ &) is

2, then the value of ki
E
]

() -{} (h) =2

=
|
|

(c)

[Board 2020 Dehi Barsic)

The maximum mmber of zeroes a cubic polynomial
ean have, is
(a) 1 (b) 4
(e} 2 (d) 3
[Board 2020 DO Basic]

If one zero of the quadratic polynomial 2+ 3r+k is
2, then the value of & is

(a) 10 (b) =10

(c) =7 («) —2
[Board 2020 Delhi Standare]

The quadratic polynomial, the sum of whose zeroes is
—5 amd their product is G, is

(n) £ +5r+6

(¢) ¥—5r—6

(h) #*=52+6

() = +5r+6
[Board 2020 Delhi $tandard]

If one zero of the polynomial (37 +8r+ k&) is the
reciproeal of the otlier, then value of £ is
(a) 3 (b) =3

(c) + (@) -1
: ' [Board 2020 0D Basic)

The zeroes of the polvnominl #© — 3r— m(m 4 3) are
(a) m.m+3 () —m,m+3

(c) m,— (m+3) () —mn, — (i + 3)
[Baard 2020 OD Standard)

The value of x, for which the polynomials 2# = 1 and
7 — 2r+ 1 vanish simultancously, is

{a) 2 (b) —2
(c) —1 (d) 1

If o and 3 are zeroes and the quadratic polynomial

flr)= £ — r—4, then the value of %-1—%— ais
(a) % (b) __}5
(c) 4 (d) 15

The value of the polvnomial 2 — ¥4+ — x4+ 1 is
(a) positive for all the real nnmbers
(b) negative for all the real mumbers

(c) O
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Chap 2

11

15

16.

1.

(d) depends on value of =

Lowest value of £+ 4x+ 2 is
(b) =2
(c) 2 (d) 4

If the sum of the zeroes of the polynomial
f(:r}: 27" — 3k +4x— 5 is 6, then the value of k is
(b) —2

(d) —4

If the square of difference of the zeroes of the quadratic
polynomial 2° 4+ pz+ 45 is equal to 144, then the value
of pis
(a) =9
{c) =15

(b) +12
(d) +18

If one of the zeroes of the quadratic polynomial

(k— 1)12—0— kxr41 is —3, then the value of & is
4 -4

® 3 “ 3

(c) 3 (d) -3

A quadratic polynomial, whose zeroes are —3 and 4,

is
(a) 2 — 2412 (b) 2"+ z+ 12
(c) ﬁ_l’_ﬁ (d) 227" 4 22— 24
2 2 - -
If the zeroes of the quadratic polynomial

£+ (a+ )a+ b are 2 and —3, then
(a) a=—T,b=—1

(b) a=5,b=—1

(c) a=2,b=—6

(d) a=0,b=—6

The zeroes of the quadratic polynomial #* 4 99z 4 127

are
{a) Dbotli positive
(b) both negative
{c) one positive and one negative
(

d) both equal

Polynomials

Page 11

2. The zeroes of the quadratic polynomial 2°+ kx+ k

where k= 0,

(a) caunot both be positive
(b) caunot both be negative
(¢) are always unequal

(d) are always equal

If the zeroes of the quadratic polynonial az’ + br+ ¢,
where ¢ # 0, are equal, then

(a) ¢ and a have opposite signs

(b) ¢ and b have opposite sigus

(c) ¢ and a have same sign

(d) ¢ and b have the samne sign

If one of the zeroes of a quadratic polynomial of the

form # + ar+ b is the negative of the other, then it

(a) has no linear termn and the constant term is
negative.

(b) has no linear termn and the coustant term is
positive.

(c) can have a linear term but the constant term is
negative.

(d) ean have a linear term but the constant term is
positive.

Which of the following is not the graph of a quadratic
polyuomial?

Y Y
(a) (b)

\J

X' -\ X X

(c) (d)

X’ { \ X X r N X

Y ¥
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Page 12

4

F&

26.

28.

29.

b

ONE MARK QUESTIONS

If the sun and product of the zeroes of a quadratic
polynowmial are 3 and =10 respectively, find the

quadratic polynomial.
[Board 2020 Delhl Basic)

If the sum of the zeroes of the quadratic polynomial
ki® 4 224 3k is equal to their product, then what is

the value of &7
[Board 2020 OD Basic)

If o« and B are the zeroes of the polynomial

247 — 132+ 6, then what is the value of o +37
[Board 2020 Delhi Basic]

If one zero of a quadratic polynomial (k" + 3z + k) is

2, then the what is the value of & 7
[Baard 2020 Delhl Basic)

If one of the zeroes of the quadratic polynomial

(k— 1]12—f— Exr+1is —3, then what is the value of 1 7
[Baard Term-1 Delh] 2013]

If one zero of the polynomial (32”4 8x+ k) is the

reciproeal of the other, then what is the value of k7
[Board 2020 OD Basic]

What is the value of z, for which the polynomials

a* =1 and 2* — 2z + 1 vanish simultaneously?
[Board Tenm-1 OD 2011]

If the square of difference of the zeroes of the quadratic
polynomial 27 4+ pr+ 45 is equal to 144, then what is

the value of p 7
[Board Term-1 Foreign 2014]

Find a quadratic polynomial, whose zeroes are —3

and 4 7
[Board 2010]

Polynomials

=

0.

Chap 2

The graph of a polynomial is shown in Figure. What
is the nmunber of its zeroes?

1f

A ,
/ 0

Y’

[Board 2020 Delhi Basic]

If & and 8 are zerocs of the quadratic polynomial

f(z) =« — 2— 4, then what is the value of 2 + L — a?
[Board Term-{ Delhi 2017]

What is the lowest value of 2 +4x+2 7
[Board Term-1 00 2013]

I the sum of the zeroes of the polynomial
fz)=22"— 3k’ + 42— 5 is 6, then what is the value
of k

[Board Term-1 2016]
Calculate  the zeroes of the  polynomial
p(z)=42"—122+9.

[Board Term-1 2010]

If sum of the zeroes of the quadratic polynomial

3r—krt+6is 3, then find the value of k.
[Baard 2009]

If —1 is a zero of the polynomial f(z)=1"—T7r—8,

then ealeulate the other zero.
|Board Term-1 Foreign 2015)

If zeroes of the polynomial * 4+ 4z + 2a are a and %,
then find the value of a.

[Board Term-1 2016]
Find all the zeroes of f(z)= 7 — 2z.

[Board Term-1 2013]
Find the condition that zeroes of polynomial
p(z)= az’ + bz + ¢ are reciprocal of each other.

[ Board Term-1 2012]
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Chap 2

4

45

46

18

1.

5L

52

Find the values of a and b, if they are the zeroes of

polyuomial 2* + ax+ b.
[ Board Term-1 2013]

What are the
7 —=3r—m(m+3) ?

zeroes of the polynomial

[Board 2020 OD Standard)

TWO MARKS QUESTIONS

Find the =zeroes of the quadratic polynomial

V32 —8x+4V3.
[ Board Term-1 2013]

Find a quadratic polynomial, the siun and product of
whose zeroes are 6 and 9 respectively. Hence find the

Zeroes,
[ Board Term-1 2016]

Form a quadratie polynomial p(x) with 3 and —% as

sum and product of its zeroes, respectively.
[Board Term-1 2012]

If a« amd B are the zeroes of the

flz) = 522 — Tz + 1 then Ond the value of g
[Be

polynomial
a

T+

il 2020 0D Basic]

If o and B are the zeroes of a polynomial 2° — 4/3z+ 3,

then find the value of o+ P — aff.
[ Board Term-1 2015]

If one of the zeroes of the quadratic polynomial
f(:r) = 147" — 42K’z — 9 is negative of the other, find

the value of *£’.
[ Board Term-1 2012]

If one zero of the polynomial 2$2+3I—I— A is %, find

the value of X and the other zero.
[ Board Term-1 2012]

Find the wvalue of k sueh that the polynomial
ar — (k—i—ﬁ):r—i—?(?k—i— 1} Lias sum of its zeros equal to

halfl of their product.
[Board 2019 Delhi]

If the zeroes of the polynomial & + pz—+ ¢ are double
in value to the zeroes of 227 — 52— 3, find the value

of p and ¢.
[Board Term-1 2012 |

Polynomials

54

55

56.

58

50

6i0.

BL

62

63

64,

Page 13

If o« and B are zeroes of ©° —(k—6)z+ 2(2.{'—- 1), find

the value of k if a+p = %LLB
[Board Term-1 2013

THREE MARKS QUESTIONS

Find a quadratic polynomial whose zeroes are
reciprocals of the zeroes of the polynomial

flr) = ar+bx+ec,a¥F 0, ¢ F 0.
[Board 2020 Delhi Standard]

Verify whether 2, 3 and I are the zeroes of the

polynomial p(r)= 22" — 112"+ 17z — 6.
[ Board Term-1 2013]

Il the sum and produet of the zeroes of the polynomial
ar® — 5z+ ¢ are equal to 10 eacl, find the value of 'a
and '¢'.

[Board Term-1 2011]

If one the zero of a polynomial 327 — 8z +2k+1 is

seven times the other, find the value of &.
[ Board Tem-1 2011]

Quadratic polynomial 22* —3z+4 1 has zeroes as «
and 3. Now form a quadratic polynomial whose zeroes

are 3o and 33.
[Board Term-1 2015

If a« and B are the zeroes of the polynomial

f(x) = 2 — 4z — 5 then find the value of o®+ 37
(Board 2020 Delhi Basic]

Find the quadratic polynomial, the sum and product
of whose zeroes are —3 and 2 respectively. Hence find

the zeroes.
[Baard 2020 0D Basic]

Find the =zeroes of the quadratic polynomial
62" —3 — 7z and verify the relationship between the

zeroes and the coefficients.
[Board 2020 Delhi Basic]

If the zeroes of the quadratic polynomial
:[.2+(ﬂ+1).'::+b are 2 and =3, then find the value

of a and b.
[ Board Term-12013]

If o and B are the zeroes of the polynomial 6" — Ty + 2,

find a quadratic polynomial whose zeroes are + and +.
[ Board Tem-1 2011]
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5. Show that I and 5! are the zeroes of the polynomial

47 + 42— 3 and verify relationship between zeroes

and coelficients of the polynowial.
[Board Term-1 2011]

A teacher asked 10 of his students to write a polynomial
in one variable on a paper and then to handover the
paper. The following were the answers given by the
students :

2¢+3, 375+ Tz+2, 4224375 +2, 2 +V3z 47,

Te+v7, 5i'=Tz+2, 27+3-%,  5z-1
ar + bt + ex+d, x++.
Answer the following question :
(i) How many of the above ten, are not
palynomials?
(ii) How many of the above ten, are quadratic
polynomials?
[Board 2020 OD Standard)
Find the zeroes of the quadratic polynomial

52?4+ 8r—4 and verify the relationship between the

zeroes and the coefficients of the polynomial.
[Board Term-1 2013]

If o and B are the zeroes of a quadratic polynomial
such that a+pf=24 and «—pF=8. Find the

quadratic polynomial having o and 3 as its zeroes.
[Board 2008]

If apf and ~ are
628+ 327 —5x+1, then
a4 Bl At

zeroes of the polynomial
find the wvalue of

[Board 2010]

Polynoinials

n

72

Chap 2

Find the value for k for which z' + 102° + 2527 + 152+ &

is exactly divisible by £+ 7.
[Board Term 2010

On dividing the polynomial 4z' — 52 — 3927 — 462 — 2
by the polynomial g(z), the quotient is 7 =3r—5
and the remainder is —5z+ 8. Find the polynomial

9(x)-
[Baard 2009]

IF the squared difference of the zeroes of the quadratic
polynomial f(I): 274 pr+45 is equal to 144, find

the value of p.
[Baard 2008]

FIVE MARKS QUESTIONS

Polynomial z'+ 72° + 72" + pr+ ¢ is exactly divisible

by 2’ + 7x+ 12, then find the value of p and q.
[Board Term-1 2015]

If a and 3 are the zeroes of the polynomial

p(r)= 20" + 5r+k satisfying the relation,
o +B°+ af =21 then find the value of k.

(Board Term-1 2012)
Find the =zerves of the quadratic polynomial

Ty ' — Ly —2 and verify the relationship between the

zeroes and the coefficients.
[Board 2013 0]

I o and B are the zeroes of polynomial
p(r)= 32 4+ 2x+ 1, find the polynomial whose zeroes
1—a 1-8
are and —.
l1+a L+p [Baard Term-1 2010, 2012)
T “u L] 1 " ) L =1
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CHAPTER 3

Pair of Linear Equation in Two Variables

OBJECTIVE QUESTIONS

The 2 digit number which becomes + th of itself when
its digits are reversed. The difference in the digits of
the number being 1, then the two digits number is
(a) 45 (b) 54

(c) 36 (d) None of these
[Baard 2022 Term-1 SOP STO]

In a number of two digits, unit's digit is twiee the tens
digit. If 36 be added to the mmmber, the digits are
reversed, The immber is

(a) 36 (b) G3

(c) 48 (1) 84
[Baard 2022 Term-1 SQP Basic]

If3z+4y:2+2y=9:4, then 3z+ 5y:3r— ¥ is equal
to

(a) 4:1 (by1:4

(¢} 7:1 (Ay1:7
[Board 2022 Term-1 STO]

The pair of equations 3*** = 81, 81" =3 lns
(n) no solution

(h) mnique solution

(c) infinitely many solutions

() z=24,p=1%

[Board 2022 Term-1 Basic]

A fraction becomes 4 when 1 is added to both the
mumerator  and  denominator and it becomes 7
wlhien 1 is subteacted from both the mumerntor and
denominator. The munerator of the given fraction is

(a) 2 (b) 3

(c¢) (d) 15
[Board 2022 Term-1 Basic]

For which value(s) of p, will the lines represented by

the following pair of linear equations be parallel
3r—y—56=0and Gzr—2y—p =10

(a) all real values except 10 (1) 10

(c) 5/2 (d) 1/2

[Board Term-1 Dethi 2012)

r and y are 2 different digits. If the sum of the two
digit numbers formed by using both the digits is a
perfect square, then value of r+ y is

(a) 10 (b) 11

(e) 12 (d) 13
[Board 2022 Term-1 ST0]

The value of k for which the system of linear equations
r+2y=3, dx+ ky+ 7 = 0 is inconsistent is

(n) —% () ?2,
(e) 5 (d) 10

[Board 2020 OD Standard]

The valne of &k for which the system of equations
4+ y—4 =0 and 2r+4 ky = 3, has vo solution, is
(a) -2 (b) + 2
(e) 3 (d) 2
[Board 2020 Dei Standard]

The pair of linear equations 2kr+ 5y =7, 6r— 5y = 11
has a unique solution, if

(a) k+—3 () k+ 2
(¢) k#5 (d)k¢%
[Board Term-1 SQP 2012)

The pair  of equations r+4+2y+5=0 and
—3r—6y+1=0 has

(a) a unique solution
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1

1

15

() exactly two solutions
(c) infinitely many solutions

(d) no solution
|Board Term-1 Fareign 2012]

If a pair of linear equations is consistent, then the
lines will he

(a) parallel
(b) always coincident
{(c) intersecting or coincident

(d) always intersecting
{Board Term-1 00 2013]

The pair of equations y= 0 and y=—T7 has
(a) one solution

(b) two solutions
(c) infinitely many solutions

(d) no solution
[Board Temn-1 SQP 2017]

For what value of k, do the equations 3r— y+8=0
and 6z — ky =— 16 represent coincident lines ?

1 1
(a) 5 (b) —5

(c) 2 (d) —2
[Board Term-1 Fareign 2016]

The pair of equations r=a and y= b graphically
represents lines which are

(a) parallel

(b) intersecting at (b, a)

(c) coincident

(d) intersecting at (a, b)
|Board Term-1 Foreign 2011]

If the lines given by 3z 4+ 2ky=2 and 2z+5y+1=0

are parallel, then the value of k is

5 2

= % (v) ¢
]_I"

&) 3 (@) 5

[Board Term-1 OD 2011]

The value of ¢ for which the pair of equations
cr—y=2 and 6z— 2y =3 will have is
(a) 3 (by —3
(e) —12 (d) no value
[Board Term-1 SQP 2014]

Pair of Linear Equation in Two Variables

Chap 3

1. One equation of a pair of dependent linear equations

—br+ Ty =2 The second equation ean be
(a) 10+ 1dy+4=0

(b) —10zr— 14y+4=0

(¢) —10x+1dy+4=0

(d) 10z — 14y=—4
[Board Term-10D 2013)]

If r=a and y= b is the solution of the equations
r—y=2 and r+ y=4, then the values of a and b
are, respectively

(a) 3and5
(c) 3andl

(b) H5and 3

(d) —1land—3
[Board Term-1 0D 2015]

Aruna has only Z 1 and 7 2 coins with her. If the total
number of coins that she has is 50 and the amount of
money with her is ¥ 75. then the number of ¥ 1 and
¥ 2 coins are, respectively
(a) 35and15

(c) 15and35

(b) 35and 20

(d) 25and 25
[Baard Term-1 0D 2016]

The father’s age is six times his son’s age. Four vears
hence, the age of the father will be four times his son’s
age. The present ages (in year) of the son and the
father are, respectively.

(a) 4and 24 (b) 5and 30
(c) 6and 36 (d) 3 and 24
[Board Term-1 Dethi 2016]

ONE MARK QUESTIONS

Find the value of k for which the system of linear

equations r+ 2y =3, br+ ky+ 7 = 0 is inconsistent.
[Board 2020 0D Standard]

Find the value of & for which the system of equations

r+y—4 =0 and 2r+ ky = 3, has no solution.
[Board 2020 DeMi Standard]

For which value(s) of p, will the lines represented by
the following pair of linear equations be parallel 7

3z—y—-5=0, G6z—2y—p =10
[Board Term-1 0D 2017)
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26.

2.

The 2 digit mmmber whieh beeomes +th of itself when
its dligits are reversed, If the difference in the digits of

the munber being 1, what is the two digits number?
[Board Term-1 Delhi 2011)

In nonumber of two digits, unit's digit is twice the tens
digit. If 36 be added to the munber, the digits are

reversed, What is the number 7
(Board Term-1 Delhi 2016]

If 3z+4y:oc+2y=9:4, then find the wvalue of

3r+56y:3z—y.
[Board Term- 1 Foreign 2012]

raction becomes 4 when 1 is added to both the
munerator and  denominator and it becomes 7
when 1 is subtracted from both the mumnerator ancd
denominator. What is the numerator of the given

fraction ?
|Board Term-1 Forgign 2016

# and y are 2 different digits, If the sum of the two
digit numbers formed by using both the digits is a

perfeet square, then what is the value of r4 y 7
[Board Term-1 00 2013]

If a pair of linear equations is consistent, then the
lines will be intersecting or coincident. Justily.

[Baard 2008]

The pair of equations y=0 and y=-—7 lhas no
solution. Justify.

[Board Term-1 Forsign 2014]

If the equations kr—2y =3 and 3z+ y =5 represent
two intersecting lines at unique point, then the value

of kis .oeeieees .
[Board Term-12011]

Find whether the pair of linear equations y =0 and
y =—> has no solution, unique solution or infinitely

many solutions.
[Board Term-1 QD 2011]

If am=bl, then find whether the pair of linear
equations ar+by=¢ and k+my=n has no

solution, unique solution or infinitely many solutions.
[Board Term-1 0D 2015]

Pair of Linear Equation in Two Variables

Page 23

38 If ad#+ be, then find whether the pair of linear

equations ar+ by = p and exr+ dy = q has no solution,

unigue solution or infinitely many solutions,
[Board Term-1 Delhs 2015]

Two lines are given to be parallel. The equation of one
of the lines is 4x+ 3y = 14, then find the equation of

the second line.
(Board 2007]

Find whether the lines represented by 22+ 5y =3 and

4r+ 2y = 6 are parallel, coincident or intersecting.
[Board Term-1 Deith 2016]

Given the linear equation 3z+ 4y = 9. Write another
linear equation in these two variables such that the
geometrical representation of the pair so formed is:
(1) intersecting lines

(2) coincident lines.

[Board Tarm-1 2016]

Find the value(s) of &k so that the pair ol equations

T4 2y =5 and 3z + ky+ 15 = 0 has a unique solution.
[Board 2019 OD]

If 2z4+y=23 and 4r—y=19, find the value of
S5y—27) and (£ —2).
(5 ) ( ) [Board 2020 0D Standard]

Find whether the following pair of linear equation is
consistent or inconsistent:
dr+2y=8, Gr—4y=29
[Board Term-1 2016]

Is the system of linear equations 2r+3y—9 =0 and

4r+ Gy — 18 = 0 consistent? Justify your answer.
[Board Tem-1 2012]

For what value of k, the pair of linear equations
kr—4y=3, 6z—12y =9 has an infinite number of

solutions 7
[Board Term-12012]

Solve the following pair of linear equations by
substitution method:

3r4+2y—7=0,4r4+43—-6=0
[Board Term-1 2015]
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15

48

Solve : 99z4 101y =499, 101z4 99y = 501

[Baard Term-1 2012]

Solve graphically : 2r—3y+13=0; 3z—2y+12=0
[Baard 2020 0D Basic]

Solve graphically : 2x+3y=2, z—2y=28
[Board 20120 Delhi Basic]

. 1 s

A fraction beeomes + when 2 is subtracted from the
. 1 =

mimerator and it becomes -+ when 1 is subtracted

from the denominator- Find the fraction.
[Board 2019 Delh]

Represent the following pair of linear equations
graphically and lence comment on the condition of
consistency of this pair,

=0y =0 and 2xr— 10y = 12.
|Board Tetm-12011]

Determine the values of m and n so that the following
systemn of linear equation have infinite number of
solutions :

(2m—1)zr+3y—-5 =0

Jrz+(n—1)y—2 =0
[Board Term-1 2013]

For what wvalue of p will the following system of
equations have no solution

@p-lz+(p—-ly =2p+1; y+3z—1=0

|Board Term-1 2011
Solve for » and ¥ :
r 2y y
s+ ==land z—% =
AR 3 (Board Term-1 2015

Solve the following pair of linear equations :

S8r+by =9, Jz+2y=4
[Board Term-1 2015]

Solve for x and ¥ :
x+1, y=1_ . =z2-=1 y+1__
2+3—9.3+2—8.
Board Term-1 Dalhi 2011

Given the linear equation 2r+3y—8 =10, write
another linear equation in two variables such that the
geometrical representation of the pair so forined is

(a) iutersecting lines
(1) parallel lines

(c) coincident lines.
[Board Term-1 2014]

Pair of Linear Equation in Two Variables

Chap 3
58. Solve for r and y :
ar+ by = ﬂ;b and 3r+5y =4
[Board Tesm-1 2011)

Find whether the following pair of linear equations
has a unique solutions. If yes, find the solution :

Tr— 4y = 49,5r— 6y = 57.
[Board Term-12017]

FIVE MARKS QUESTIONS

For what value of &, which the following pair of linear
cquations have infinitely many soluntions:

2r+ 3y=Tand (k+ 1)r+(2k— 1)y=4k+1
[Board 2019 Demi]

Find ¢ if the  system of  equations
cx+3y+(3—¢)=0;1274+ cy— =0 has infinitely

many solutions?
[Board 2019 Delhi]

Determine graphically the coordinates of the vertices
of triangle, the equations of whose sides are given by

2y—x=8,5y—xr=1d and y—2xr=1.
[Board 2020 Dethi Standard]

Determmine graphically whether the following pair of
linear equations :
3r—y=7and 20+ 5y+1 =0 has:
(n) unique solution
(1) infinitely many solutions or

(¢) no solution.
|Board Term-1 2015]

Aftab tells his danghter, *7 vears ago, 1 was seven
times as old as yon were then, Also, 3 years from now,
I shall be three times as old as vou will be.” Represent

this situation algebraically and graphieally.
|Board Term-1 2015]

For Uttarakhand flood vietims two sections A and B of
class contributed Rs. 1,500, If the contribution of X-A
was Its. 100 less than that of X-B, find graphically the

amounts contributed by both the sections.
|Board Term-1 2016]

Solve graphically the pair of linear equations :

Jr—dy+3=0and 3r+4dy-21=0
Find the co-ordinates of the vertices of the triangular
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n

n

region formed by these lines and r—axis. Also,

caleulate the area of this triangle.
[Board Term-1 2015]

The cost of 2 kg of apples and 1kg of grapes on a day
was found to be Rs. 160. After a month, the cost of
dkg of apples and 2kg of grapes is Rs. 300. Represent

the situations algebraically and geometrieally.
[Board Temn-1 2013]

Solve for x and y :

2r—y+3 and 3r—5y+1 =0
[Board Tenm-12015]

Draw the graphs of the equations z—y+1=10 and
dr+ 2y — 12 = 0. Determine the co-ordinates of the
vertices of the triangle formed by these lines and the

X-axis and shade the triangular region.
[Board Term-1 2013

Solve the following pair of linear equations graphieally:
s+ 3Iy=12, 2r—3y=12
Also shade the region bounded by the line 2r— 3y =2

and both the co-ordinate axes.
[Board Term-1 2013, 2012]

Saolve the following pair of linear equatians graphieally:
r—y =1, 2r4y =8
Also find the eo-ordinates of the points where the lines

represented by the above equation intersect y — axis.
[Board Term-1 Dethi 2012]

Draw the graph of the following equations:
r+2y=13

Find the solution of the equations from the graph and
shade the trinngular region formed by the lines and
the y-axis.

2r—y =1,

[Board Term-1 0D 2012]

Solve the following pair of equations graphically:
2r+3y =12, z—y—-1=40.
Shade the region between the two lines represented by

the above equations and the X -axis.
[Board Tenm-12013]

Solve a4+ y=5 amd 2xr—3y=4 by -elimination

method and the substitution method.
[Board Term-1 2015]

Pair of Linear Equation in Two Variables

n

Page 25

For what values of a and b does the following pair
of linear equations have infinite number of solution ?

2r4+3y="T, E(I+ _l',r')_ b(I_ y) =3a+ b_mga-:lTerm-'l 015

Find the value of p and ¢ for which the system of
equations represent coincident lines 2r4+3y=7,

(p+ag+1)z+(p+2q+2)y=4(p+q)+1
[Board Term-1 Deihi 2012)

WORD PROBLEMS

In an election contested between A and B, A obtained
votes equal to twice the no. of persons on the electoral roll
who did not cast their votes and this later mumber was
equal to twice his majority over B. If there were 1.5000

persons on the electoral roll. How many votes for B.
[Board Term-1 2012)

Sum of the ages of a father and the son is 40 vears. If
father’s age is three times that of his son, then find

their respective ages.
[Board Term-1 2015)

Hall the perimeter of a rectangular garden, whose
length is 4 m more then its width, is 36 m. Find the

dimensions of garden.
[Board Term-1 2013]

A part of monthly hostel charge is fixed and the
remaining depends on the mumber of days one has
taken food in the mess. When Swati takes food for
20 days, she has to pay Rs. 3,000 as hostel charges
whereas Mansi who takes food for 25 days Rs. 3,500
as hostel charges. Find the fixed charges and the cost

of food per day.
[Board Term-1 2016, 2015)

The present age of the father is twice the sum of the
ages of his 2 children. After 20 years, his age will be
equal to the sum of the ages of his children. Find the

age of the [ather.
[Board Term-1 2012)

In the figure, ABCDE is a pentagon with BE | CD
and BC | DE. BC is perpendicnlarto CD. AB =5 cm,
AE=5cem, BE =Tem, BC=a— yand CD= z+y.
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PM SHRI KENDRIYA VIDYALAYA PASIGHAT
SUMMER VACATION HOLIDAY HOMEWORK
SUBJECT ART

CLASS ItoV

1. Make a card decoration 2D. Topic for card- Mother Day ( only use in primary and
secondary colour paper and thought writing)
2. Make a paper mask 2D. Topic for the mask (Animal)
Lion
Elephant
Tiger

Class VI to VI
1. Make atleast 4 different types of Rangoli/ Alpona designs in your drawing book
(using geometric concepts of designs)
2. Make atleast 4 different types of card for 15 August(INDEPENDENCE DAY).

CLASS IX to Xli
1. Make two painting A3 size drawing sheets. Topic for the painting
international yoga day with slogan
Any tribal painting from India
2. Make two Mandala Painting A3 size drawing sheets.(One black and white and one

colourful)



